
EAMCET GRAND TEST 1
TELUGU MEDIUM

  (A) : (a,b+c), (b,c+a), (c,a+b)     
 (R) :         
1) A  R   R   A   
2) A  R   R   A    
3) A   R  
4) A   R 

 D(-1,3) E(-2,4) F(2,-5)  ABC BC,CA AB 

A(1,P) B(Q,-6) C(R,12) G 
1

,
3

S
 

 
 

  PQRS

 
1) P,R,S,Q 2) Q,S,P,R 3) Q,S,R,P 4) R,P,S,Q

3. ABC  BC, CA, AB   DEF 
2 2 2

2 2 2

AB BC CA
AD BE CF

 
 

=

1) 3/4 2) 3/5 3) 4/3 4) 1/2

4.   AB       k   13AB 
 2 2 3k k  

   

 180o  2x–3y+4=0 
1) 2X–3Y–4=0 2) 2X+3Y–4=0
3) 3X–2Y+4=0 4) 3X+2Y+4=0

6.       x2+y2–4x-6y-12=0  
X2 + Y2 = K  K =
1) 12 2) 25 3) 24 4) 5

7. (a cost, a sin t), (bsin t, - b cos t)       
 t 
 (3x-1)2+(3y)2= a2+b2 2) (3x+1)2+(3y)2= a2+b2

3) (3x+1)2-(3y)2= a2-b2 4) (3x-1)2+(3y)2= a2+b2



8.           

1) x2+15y2 =1 2)  x2+y2+15=0 3) 15(x2+y2)=1 4) x2+y2=15

9. 2x-3y+6z -7 = 0  2x-3y+6z+7=0   

2x-3y+6z +1 = 0 2x-3y+6z -1 = 0

2x-3y+6z  = 0 2x-3y+6z = 11

10. 3% 
1) 2    2) 2.5 3) 1.8   4) 1.5

11. 'R'  
 R 

1) 
6


2) 
4


3) 
3


4) 
2


12. AB 'P''V'ABA 
 “ l ”  'O'  'O' 'P'

1) 
lv
op 2) 2

lv
op 3) 

2lv
op 4) 

2op
lv

13.
3 3

0

1 1im
x

x xL
x

  


1) 
1
3 2) 

2
3 3)  0  4) 1

14. 2 20

1 1
sin sinhx

Lim
x x

   
 

  1) 2
3 2) 0 3) 1

3 4) 2
3

15. The value of 

21/2

20

1 5im
1 3

x

x

xL
x

 
  

1)  e 2) e2 3) 1/e 4) 0



16. f(x) = ||log
1

x  

 1) 0,  2 2) 1,  2 3) 0,  1 4) 0,  3

17. ax2 + bx +c = 0   
2

2

tan( )im
( )x

ax bx cL
x 

 



1) a 2) b 3) c 4) 0

18.  xy = yx  
dx
dy

=

1) )log(
)log(

xxyx
yxyy




2) )log(
)log(

xxyx
yxyy




3) )log(
)log(

yxyy
xxyx




4) )log(
)log(

yxyy
xxyx




19. cosy=x.cos(a+y)  dx
dy

=

1) 
a

ya
sin

)(cos2 
2) 

a
ya

cos
)(cos2 

3) )(sin
cos
2 ya

a
      4) a

ya
sin

)cos( 

20.
a sinx b cos x af(x) tanx
acos x bsinx b

      
 

1) f   2)  f  

3)   4)  

 4 3y ax (a, a) 
1) 2 3x y a  2) 3 4 0x y a   3) 4 3 7x y a  4) 4 3 0x y 

22. 

I:  
2 2
3 3x y 1  

p ,q 2 24p q 1  

II:  3 2 5x .y a  P A , B 
AP : PB = 3 : 2



1)  I 2) II

3) I  II 4)  I  II



 (2,-2) 
1) 0 2) 1 3) 2 4) 

24. .(a+b)x+(a-b) y – 2ab = 0, (a-b)x + (a+b) y – 2ab = 0 x+y=0 


1) 2


2) 
1

2 2

2tan ab
a b

  
  

3) 
1tan a

b
  
 
 

4) 
12 tan a

b
  
 
 

25. x+y-1=0 

1) (1, 1) 2) (-1, -1) 3) (2, 2) 4) (-2, 0-2)

26. lx + my = l+m, l (x-y) + m (x+y) = 2m 

1) 
4


2) 
6


3) 
2


4) 
3


27. 2 3 0,3 4 13 0x y k x y        8 11 33 0x y       k 
1) 20 2) -7 3) 7 4) -20

28. 2 2 2 0hxy gx fy c         
 

1) 2

fg
h

2) 2

gh
f 3) 2

hf
g 4) 

fg
h

29.. 2hxy+2gx+2fy+c=0 
1)  2gx+2fy+c=0,  gx-fy=0

2)  2gx+2fy-c=0,  gx+fy=0

3)  gx+fy-c=0, gx-fy=0

4)  gx+fy=0, gx-fy=0

30. O= (0,0), A = (2,0), B = (0,2)  OA, AB BO 


1) 






 
2

11,
2

11 2)  22,22  3) 







4
3,

2
1

4) 







3

1,
2
1



31.  a1x + b1 y + c1 = 0,  a2x + b2y+ c2 = 0   


21

21

bb
aa

=

1) 2 2)  1 3) -1 4) c2/ c1

32. 'a'  n


1) cot
4 2
a 


 
 
 

2) cot
2

a 


 
 
 

3) cot
2 2
a 


 
 
 

4) cot
2

a 


 
 
 

33. x = 1 
x2 + y2 - 8x + 4 = 0 
1) 4 2) 2 3) 6 4) 3

34. 2 4y ax    1 1,x y        1 2 3, ,t t t  

1 2 2 3 3 1t t t t t t  

1) 0 2) 1y
a 3) 12a x

a


4) 1 2x a
a


35.  3x-4y+27=0  3x-4y+2=0. 


1) 5 2) 10 3) 15 4) 20

36. 2 23 6x y  P P 


 2


 6


 4


 3


 e, e1   
2 2

2 2 1
x y

a b
   

2 21

1 1

e e


1)  3 2)  2 3)  1 4)  0



38.  


dx
xx

x
sin5cos2

sec

1) cxx  )sin5cos2(log
2
1

2) cx  )tan52(log
5
1

 3) cx  )tan32(log
2
1

4) cx  )tan52(log
3
1

39.  


dx
x

x
)(sin

sin


1) x Cos   + Sin   . log |sin (x- )| + c 2) x Cos   - sin   . log |sin (x- )| + c

3) x2 Cos   - Sin   . log |sin (x- )| + c 4) x2 Cos   + Sin   . log |sin (x- )| + c

  
a

dxxaxx
0

2/323 )( =

1) 
2048
9 7a

2) 
2048
3 7a

3) 
2048
9 7a

4) 
2345
9 7a

41. :  
100

0

sin 200x dx



: sin x  2   

0

sin x dx


  4

1) A & R , R, A 
2) A & R , R, A 
3) A R 
4) A  R 

 tany x  4
x 
 x- 



 1log 2
4

   1log 2
4

 

 log 2   log 2 

  
22 1dyxy y

dx
   

1.  21 y cx  2.  21 y cx 

3.  21 x cy  4.  21 x cy 



44.    2 2 2 2 2 2 0dyx y x y x y
dx

    

1) 
1 1x y c
x y

   

2)   1 12 x y c
x y

 
    

 

3)   1 12 x y c
x y

 
    

 

4) 
1 1x y c
x y

 
    

 

45.   2 2dyx y a
dx

  

1) 2 log x y ay c a
x y a

  
     

2) log x y ay c a
x y a

  
     

3) 2 log x yy c a
x y

 
    

4)
22 log x y ay c

x y a
  

     

 x p x c2 1 0   ( )  , 
 
 

 
 

2

2

2

2

2 1
2

2 1
2

 
 


 
 c c 


   

 3 2 1 0x x x     
1. 3 28 20 16 0x x x   
2. 3 28 20 16 0x x x   

3. 3 28 20 16 0x x x   
4. 3 28 20 16 0x x x   

48. 3 2 0x px qx r      , ,   
2 2 



 

1. 1pq
r
 2. 2pq

r
 3. 3pq

r
 4. 4pq

r




49. 

   

 A:
Rm n
 2 2

m nC C

A, RRA
AR
AR
A, RRA

 x + y + z = 1,  ax + by + cz = k, a2x + b2y + c2z =k2   x = .......

1) ))((
))((

acba
kcbk




2) ))((
))((

accb
kack




3) ))((
))((

accb
kbak




4) ))()(( ckbkak 

52. A,B,C  A28, 3B9, 62C  K 

3 6
8 9
2 2

A
C

B
 

1) K2 2) K (k+1) 3) K 4) K+2

53.
222

222

222

2
2

2

cabab
abcac
bcabc






 = 0  a3+b3+c3-3abc = .............

1) 1 2) 2 3) 0 4) 3

54.  A  A (AdjA) 

4 0 0
0 4 0
0 0 4

 
   
 
 

 det (AdjA) =

1) 4 2) 16 3) 64 4) 256

55.
3 3.5 3.5.7 .......
6 6.9 6.9.12
    =

1) 3 3  2) 3 3  - 3
4 3) 3 3  - 4 4) 2 3



56.  n34 43   

1) 8 2) 9 3) 10 4) 11

57.  
2

4

3
3

x
x x


 =   2 3 43

A B C D E
x x x x x

   
   I, II, III, IV, V 

I) A = a) 
4
9 II) C = b) 

4
27 III) B = c) 

1
3



IV) E = d) 
4

27
 V) D = e)  1

1. b, a, d, e, c 2. b,a,e,d,c 3. d,b,e,a,c 4. a,b,c,d,e

58.     



13

52
2

13
3

13
5

13
1

4

C
CxCxCxC


13

52
2

13
6

26
5

13

C
CxCxC


13

52
2

13
3

13
3

13
5

13

C
CxCxCxC


2

52
2

13
3

13
3

13
1

4

C
CxCxCxC

 


 343
224 

4
10

10
c  323

99  323
89

 


 15
59


  15

9 6
10


 p  15

9 6
10


 c  15

9 5
10


 c

  X    2P X 0 3K ,  

  2P X 0 3K ,    2P X 1 3K 10K ,     P X 2 5K 1, K               

 P 0 X 3  


3

49 
27
49 

37
49 

47
49



  A 
2
5 




22

125 
112
625 

116
625 

110
625

 



5 25
2

e

 
0.5 25

2
e


  20.05 0.05

2
e




5 25
2

e


 3Cos 2 5Sin2 7     1 2,   
A) 1 2tan θ tan θ B) 1 2tan θ tan θ C) 1 2tan (θ θ )
1) A > B > C 2) A > C > B 3) C > A > B 4) B < C < A

65. 0 0 0 0sin 70 .sin50 cos85 cos65 

1) 0 2) 1 3) 
5 1
4


4)
3 1
4


66. 0180A B C     2 2 2cos cos cosA B C   =

1) 1 2cos cos cosA B C 2) 1 2sin sin sinA B C
3) 1 2cos cos cosA B C 4) 1 2sin sin sinA B C

67. sinA, cosA, tanA G.P   6 4tan A tan A  
1) 0 2) –1 3) 2 4) 1

68.  2 2 24cos .cos .cos
3 3

x x x        
   

 
1) -1, 1 2) -2, 2 3) -3, 3 4) -4, 4

69.
cos( )
cos( )

cos( )
cos( )

A B
A B

C D
C D








 0

 cot A cot B cot C cot D =
1) -1 2) 0 3) 1 4) 2

70. cos2720 - sin2540 =

1 5
2

. 2 3
4

. 3 5
4

. 4 5
8

.



71.    1 1sin / 5 cos 5 / 4 / 2  x ec    x

1) 1 2) 3 3) 4 4) 5

72. cot 2
cot:

2
cot:

2
CBA

 = 3 : 7 : 9,   a:b:c =

1)  7 : 9 : 11 2) 14 : 11 : 6 3)  7 : 19 : 25 4)  8 : 6 : 5

73. 2 2 2 2i  

1)  2
4

cis 2)  2
4

cis  3)  4
4

cis 4)  3 3
4

cis

74. 1z z i    

1)  1 
2) (1,0) (0, i)  
3) 
4) 1 ,-1 

 f(x) = 21 x
x


    (f0f) (x) =

1) 21 x
x


2) 221 x
x


3) 231 x
x


4) x

76.`  1n n d( n )p 
p, d(d(d(p7)))=
1) 1 2) 2 3) 3 4) 4

77. a, b, c a.b = a.c = 0 (b,c) = /6 a =
1)   b × c 2)  2 b × c 3)  3 b × c 4)  4 b × c

78. cba ,,   2 , | | | | 1a b a c a c       4b   

b  c   







4
1cos 1   cb 2  =

1)  a4 2)  a3 3) a5 4) a2

79.  6, 7, 10, 12, 13, 4, 8, 12
1) 9.25 2) 9.55 3) 9 4) 9.50



80.    


1) 3/2 2) 2/3 3) 1/3 4) 1

KEY

1     2        3 4     5        6 7    8        9 10
1 2 3 3 1 2 1 4 3 2

11 12 13 14 15 16 17 18 19 20
3 2 2 1 2 3 1 1 1 1

21 22 23 24 25 26 27 28 29 30
3 1 2 2 2 1 2 1 1 2

31 32 33 34 35 36 37 38 39 40
1 3 2 3 2 3 3 2 1 3

41 42 43 44 45 46 47 48 49 50
3 1 2 4 1 3 2 2 4 3

51 52 53 54 55 56 57 58 59 60
1 3 3 2 3 3 3 3 3 2

61 62 63 64 65 66 67 68 69 70
3 2 3 3 4 3 4 1 1 3

71 72 73 74 75 76 77 78 79 80
2 4 3 3 2 3 2 1 1 1


